E\\c\'\!\e

l\’\ ‘\CL\*_LQ\ EQ‘\(\(

~ pAar¢ tea
} DL (Cm‘\\l (* Cl\(}\\(-“(\r\a
I S LR
e 1 od bl Cost
| Q) oo 2 \ELoPt
Qoln
@ 2 ax
| 5. 'Ll
S : ‘){:h (v = Inyx
du = Yax '
‘; (it
fvda (wa
. clat rm
\n ¢ g‘ L0 e 0 i
- ‘ = c‘l}(
] - WX AT T S (?, } (C
I (2 I
- 2In 130y C_“E $C
J X
I 0 o 3l ¢ j?i +C

ﬂ {"1_ [(CS},&' Cost b - (1
I , J

((OS&'% (U*CQQ
1)

@ fg\\\ 3 (0S%x cQ 1

= osnt

LU ~ —siat =zUvadu
‘ S
(k?(

gcob‘\m §in® gelae

| r u ci*,,{‘_;_' clu

” ' 5Lt

1

Recell ek,
SRR LG S (e
- Sg\ \,\7- Nt \_l\\ - Q,\\L(
- f G- Lox%t] U el
bd W = Gage
(( l'uﬂ il
- (qu d ) dm

ne 26t G»'(f : -
1 cd B COOB - [Lo%(ﬂf[})“ﬂﬁ (A~ B) [ L ( 7 JH
| '1( [\956%()%(03(5‘) S ae
: -t e
8 Cos i e 11T (P s T
- :2[ Sla ¢ - -Sinbt (( o) —(Coi\) .
g 8 T <
4
& - Hint | =9t Gkt {
5 5,

Scannea witn varmnscan



